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Bachelor in Computer A

Model Set-2

Full Marks: 100

Group A[English]
m among the given options. (Multiple

Circle the correct answer fro

Choice Questions)

1. To get into hot water.
a) Bath in the winter months
¢) to get rich

72 Jcannot wait to ..............-

3. Sorry I interrupted, .........---
a) carry out
c) carry in

as a bit bossy.
a) came off
c)came across

5. We finally............
a) came out of
c) came up of

a) get out
C) get across
7. As always, Janny............. late.
a) turned down
¢)turned in
8. The synonym of “WISE” is:

a) m
;) omentous

Entrance Exam

a)getawaYBcanOtesnepaE

c) ge
talking.

6. We’re not together anymore, but we...

lications (BCA

TIme:2hr

b) to get healthy
d) to get into trouble

from the city.

et in

b) carry on
d) carry of

b) came down
d) came on

a solution to the problem.

b) came in of
d) came on of

b) get along
d) get in

b) turned of
d) turned up

b) pragmatic
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¢) judicious
9. Which one is appropriate synonym of “WEARY”9 26 -
a) sad b) fatigued 19,
¢)sentimental d) emotiona]
10. Give an exact synonym of “BLAND”.
a) unpleasant b) irritating o
¢) affable d) tasteless
11. The antonym of “HINDER” is: 21,
a) expedite b) protect
c) devote d) create
« » 22,
= Barotesiiepal com
aprd ° assume 2
¢) disinclined | d) atone '
13. Basketball is played on court as Golf is played on: 24
a) Ring b) course
- ©) Diamond d) Field 25,
- Beal ty is to ugliness as adversity is to......... .
b) cowardice 26
)Osperl | 27,

Scanned by Camca_riner



19. No sooner did he..... .. me............... he tried to run,

a) notice, when b) see, then
¢) observe, soon d) watch, that
20. We had a wonderful view of the bay through the ..................
a) window b) Zenith
¢) vicinity d) proximity
21. The old man suffered.................. a heart attack.
a) of b) from
¢)to d) with

. Her next b \ A~ y.
b Beghiotegnepatcom
. Heis responsible ...................... what he does.
a) at b) by ¢) from d) for
. I haven'tseenher ................ five years.
a) for b) since ¢)in d) none of these
. You look good............. that dress. +
a)in b)on ¢) no preposition  d) all of the above
. Hesits ............ the computer all day.
a) in front of  b) until c) before d) none of these
. He had to repent............... what he had done. 7
a) of b) over c)for i w
. Let this be an example ........ .......the troublemake
a)to

. To draw a line.
a) To impose certain restric
¢)To have a fair game

. The new owners of
a) layout
. Lost in the clouds.
a)to enjoy |
¢) confused

. Hang Fire,
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- b) calm

a) in anger d)
unresolved ;
o) solved issue d issye

33, By hook or by crook.

a) by permission Z)) :Y ::y means

¢)by noble means y request
34. At sixes and sevens.

a) in perfect order b) very happy

¢) in disorder d) very sad
35. Die hard.

a) very weak b) about to die

¢) living life full d) persistent in struggle
A ISR TR AR to us for half an hour.

a) said b) spoke

c)ta d) told

Lﬁcanotesne a)l.com.

Read the following passage carefully and answer the
questions given below it. -

At this stage of civilization, when many nations are brought in to clos:
and vital contact for good and evil, it is essential, as never before, tha
their gross ignorance of one another should be diminished, that the)
should begin to understand a little of one another's historical experienc®
and resulting mentality. It is the fault of the English to expect the peop®
of other countries to react as they do, to political and internation®
situations. Our genuine goodwill and good intentions are often brought €
nothing, because we expect other people to be like us. This would bé
corrected if we knew the history, not necessarily in detail but in broad
outlines, of the social and political conditions which have given to each
nation its present character. .

37. According to the author ‘Mentality’ of a nation is '
product of its o
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a) History b) international position
c) politics d) present character

38. The need for a greater understanding between nations
a) was always there
b) is no longer there
c) is more today than ever before
d) will always be there

39. The character of a nation is the result of its
a) Mentality b) Cultural heritage
C) gross ignorance d) socio-political conditions

40. Englishmen like others react to political situations like

a)us b) themselves
c) others d) each other
Bcanotesnepal.com
Group-B[Mathematics]

41. The slope of the straight line 4y+2x=5 is:

a)-2 b)5/2 d)-%
42. What is the probability of death

43. The minimum value of n(ANB) when n(U)=120, n(A)=90,
n(B)=55 is: T
P40 b)2s
44. For any two real numbers is x
a) equals to [x|+y]
¢) equals to x+y
45, If the funcnon qx)=3.x2, 3
a) even function
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46.

47,

48.

49,

50.

51.

52.

53.

54,

55.

¢) odd function d) none of thuc
The n™ term of the series 14x+x’+.......... n terms is:(x<0) \

- 1=-x 1-x x
" a9 O
The value of cos180° is equal to:

a) 1 b) -1 c)0 d) =
A and B are square matrices of same order such that AB=A and
BA=B A is:

a) diagonal natrix b) idempotent matrix

¢) null matrix d) symmetric matrix
What is the surface area of a cube wbnubpiﬂ
a)l6 b) 64 S

c) 96 d)l” ] .
The value of \/(31 - 6)(16 = 9) 9) m'

a) 3 b0 W
c) 25 d) ”

A 18 a matrix of order 3 X2, then each

a)2 elements b) 6

¢) 3 elements d

10 1s what % of B?

a)l0B% b)10/n%

The cost of 1 liter of petrol is K

what will be the cost of 8 liters p o B

a)834 b)832 o330

If the angles of a triangle are at "" ) of 2:3-4

of the triangle is: b |

a)70 b)80 )90

The sum of money if it is cor __ '

years amounts to be Rs.44100 is 0

a) 50000 b) 40000

s 4 I,‘r
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If the selling price of Rs.24 results in a 20% discount off the list

6.
. price, the selling price that would result in a 30% discount off the
list price is:
a) Rs.16 b) Rs.21 c) Rs.25 d) Rs.31
57. Ram buys one gross pencil for Rs. 288.He sold each for Rs.2.25.
His total profit is:
a) Rs.36 b) Rs.46 c) Rs.25 d) Rs.63
58. What is the cost of fencing a rectangular field of 50mX35m with
the barbed wire running twice around it at the rate of Rs.5 per
meter?
a) Rs.1250 b) Rs.1550 ¢) Rs.1700 d) Rs.2550
59. The area of an equilateral Triangle can be calculated from:
a)y/s(s —a)(s — b)(s — c) b) % *b*h
cW3/4a’ d) none of the above
60. A dealer altered his trade discount from 15% to 10%, By what
percent was the selling price altered?
a) 5.88% b) 5.56% c) 6.88% d) 7%
61. Two successive discounts of 20% and 15% is equlvalent to a single
discount of
a) 18 b) 24 c)i32 d) 36
62. The value of tan 45° is _
2) V3/2 b) % o3 d)1
63. The principal that will yield an interest of Rs.540 in 15 months at 2
Palsapcrrupeespermonthgs,‘ - : a4
a) 1080 800 e 358010
64. Hari will be x years old y years old ag
a) x+y+z | ) Z-y
65. A number

—

subtracted f g
number is;
a)73
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66. What is the circumference of a circle whose areg ig 100z

a)10 b)20 ¢)10n d)20;
67. The system of equations 2x+3y=6 and 4x+6y~§ haYe
a) unique solution b) no solution
¢)infinitely many solutions d) none
68. If |x|>2 means:
a)2<x<2 b)-2<x<2
¢) x<-2 or x>2 d) x>-2
69. If f(x)=2x+3 and 8(x)=x*+7, then the value of x for which f[g(, )
=25 are
2)l b) +2
c)£3

d) +4
70. If a matrix is of order 7 X5, each column will contain

a)5 elements b) 7 elements

¢)6 elements '35 element:
71. The system of €quations 2xt+y=4 3x+: and x+v- -2 have:

a) no solution
¢) two solutions

72. If A:B=5-4 and B:C
a) 30:24:28
) 5:4.7

73. If 5:7=15:x, the value of x ig-
a)3s b)27

74. The sum of the reciprocals of 4

1. 4
%y by O
75. The width of a rectangle is 2em less
a) 12cm’ b)24cm"
76. The solution of the sys
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b) 2,1 ¢) 3,2 d) 3,1

a) 1,3

77. The slope of the line joining through (3,2) and 1s perpendicular to
the line that passes through (-2,3) and (2, -3) 1s:
a)-3/2 b) % c) /2 d) 2

If 2<x<5 and 3<y<S5, which of the following best describes x-y?

78.
b)-3<x-y<§  ¢)0<x-y<2 d)2<x-y<5

a)-3<x-y<2
79. The two numbers whose AM=50 & GM=16 are:
a)20,30 b)4,64 ¢)20,50 d)50,10
80. If the arithmetic means between b and b+8 is 14, the value of b 1s:
a)l4 b)15 c)16 d)10

. A shopkeeper bought lemons for Rs.5 and sold 5 for Rs.6. His

profit percentage is:
a)66% b)44% c)88% d)55%
. By selling transistor set for Rs.1150, the dealer makes profit of

25%. Is the CP of that transistor set is?

a) Rs.880 b) Rs.900 c) Rs.920 d) Rs.940
. The selling price to gain 15% profit costing a book Rs.50 is

a) Rs.20 b) Rs.50 c) Rs.16 d) Rs.30
. An agent sells flour at Rs.22 per kg. and gets Rs.550 as a

commission at 5%. The price of flour he sold is:
b) Rs.600 c) Rs.500 d) Rs.300

a) Rs.400
. If an article was sold at 20% loss with selling price Rs.800, the CP

is:

a) Rs.1000 b) Rs.2000 ¢) Rs.1500 d) Rs.800
. If A=(aij)mx » and B=(aij)mxn be any two matrices and (A+B) is

defined then the order of (A+B) is:

a)m X n b)nXm ¢)m X m dnXn
JIfM=[1  2],M2-AM-I=0,the value of A is:

2 3 |
d)2

D2 7 e oA
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88.

89.

1.

9.

93.

95.

A book seller purchased a book at Rs.20 and sold \

t at a pTOfit 5
15%. The selling price in Rs. of a book would be:
a) Rs.22 b) Rs.23 c) 38.27. d)Rs,30
Two successive discounts of 20% and 15% is equivalen¢ to 3 in
£
discount of
a)l8 b)24 c)32 | d)36
. The selling price of four articles equals to cost price of articleg
The gain is:
a)20% b)25% ¢)28% d)309

Group-C [General Knowledge]
In which district is a Rara lake located?
a) Dolpa b) Mugu ¢) Manang d) Myagii
The first president of America is:
a) Abraham Lincoln

¢) George W. Bush

Which of the following is not part of the
a) HTTP b) Www

b) George Washington
d) Bill Clinton
internet?

¢) CD-ROM - d) Email

- How many bits js 5 byte? 4 :

a)4 b)6 c) 10 :{Jﬂ:_} d) 8

Bulls and bears are the term associated with: S

3) Bull fighting b

©) Parliamentary affyi o

The tech valley Jocageq in USA is namel ’

a) slik valley

¢) Silicon Valley
: :‘l’:manydhmm are there in provine,

b)9

Awebnitc'smainmeiwﬂled L

@) web page b) home page  c) search page

Who Won the mep’g Wimbledon Chamnionsh:
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a) Rafael Nadal b) Novac Djokovic

c) Andy.murray d) Roger Federer
100. The national anthem of Nepal was written by:

a) Bairagi Kal'la b) Byakul Saila

¢) Byakul Maila d) Ambar Gurung
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Answer Key:

b [2a [3b |4c [Sc |6b 7d |8c |9P "

11a 126 [13b |144 [15b [16d [17d |18.a 19"3 20.a
51b | 22¢ [23d |24d [25a |26a [27¢€ 28a [29.a |30a
3le 324 [33b [34c |35d [36b [37D ‘ | 40.b
41d |42a |43a |44d [45b |46.a 47b |  _1-50.¢
sia | 520 |s3a |s4b |ssb |s6b 578 [ 60.c
6lc |624 |63b [64d |65a [66.c |67 e
1d 1726 |73c |74 |75c [760 [N
81.b Jr82.«: 83b |84a [85a [86a
__Jrs»z.b 93.c [94a [95b |96.c
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